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APG60/AP60W 1518% 9:30~10:45 254&F 11:40~12:55

JEfL| 58| 5 FE| 1% BEBF4 BilE: 1 2 3 4 5 6 |XBE|
1 4 | M| BB F Ik 0
1 5 | M fEA =2 Ik 0

OP| 1 6 |W| RHF EE R 0

HR40 1518% 9:30~10:30 2548F 11:40~12:40

NEGr| 548% | 5 EE| & BEBF4 BilE] 1 2 3 4 |XElE| &
2 7 | M BA B Ik 0

ARG60/ARG60W 1518% 9:30~10:45 254&F 11:40~12:55

JEfL| 58| 5 FE| 1% BEBF4 BilE: 1 2 3 4 5 6 |XBH| i
1 11 |wW| WE BF |E¥XiaviiL—7 0.0
2 13 |M| F&EA FE Rk 0.0
2 14 |M| FE i =R 0.0
2 15 |W| KA =ZF =R 0.0
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BP60J/BP60WJ 1518 9:25~10:10 2518 1040~11:25 35fFF 11:55~12:40

NEGr| 518% | 5 EE| % EF4 & 1 2 3 4 5 6 |XBA| 3
1 26 |W| FIE ZHEF h 0
2 26 |W| FIE BEF Rk 0

BR60J/BR60WJ 158 9:25~10:10 2518 10:40~11:25 35fFF 11:55~12:40

NEGr| 518% | 5 EE| % EF4 BilE] 1 2 3 4 5 6 |XBm| F
1 20 | M hil =g =R 0.0
1 22 |W| BEE EDE =R 0.0
2 21 |M| KIF BX =k 0.0
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FR3P/R3P 15¢8% 9:40~11:10 2518 11:50~13:20

NEGr| 518% | 5 EE| % EF4 BilE] K1 K2 P1 P2 S1 S2 |XE&| i
2 4 |[M| EFH EBKX |EXLaviiL—7 0
2 6 |(W| WA #BF |[vXiavdi—7 0
2 8 |M| FH FH Rk 0

FR60PR/R60PR 1548 9:40~10:30 25F#f 11:50~12:40

NEGr| 518% | 5 EE| 4% EF4 BilE 1 2 3 4 5 6 |XB&| i
1 11 |M|  J\EE#E & Rk 0.0
1 13 |M| Bk E— R 0.0
1 15 |M| #BX #BE R 0.0
1 17 | M Bl B Rk 0.0

OP | 1 19 |[M| #HE &2 HE 0.0
2 12 |M| #H® B— Rk 0.0
2 14 |M| XA HF Rk 0.0
2 16 |[M| JUs Bk Rk 0.0
2 18 | M RA B Rk 0.0
2 20 | M JKEE BB Rk 0.0

oP| 2 22 |M| F JKEB AR 0.0

FR60PRSC 158 9:40~10:30

NEGr| 518% | 5 EE| 1% EFA BilE] 1 2 3 4 5 6 |XB&| i
1 23 |M| FM #E 3 0.0




